Session 2

Ben has 8 cats and 6 kittens.
How many in total?

Ben has 8 red fish and 5 black
fish. How many fish altogether?

Ben has 15 birds. 8 flew away.
How many birds does
he have now?

Thirty-five plus forty-two
equals?

Sixty-five minus thirty-eight
equals?

Forty-two add thirty-nine
equals?

What is the sum of fifteen and
twelve?

Ben had 15 frogs but 7 jumped
away. How many frogs now?

Ben has 8 more rabbits than
Sam. Sam has 6 rabbit.
How many rabbits has Ben got?

Ben had 12 puppies but
8 were sold. How many
puppies now?

Fifty-seven subtract thirty-eight
equals?

Seventy-seven take away twenty-
hine?

What is the total of fifty-three
and twenty-eight?

What is the total of fifty-three
and twenty-eight?



There are 46 trees in the park. Park
workers will plant 53 more today. How many
trees will be in the park altogether?

There are 46 frees in the park. Park workers
will plant 53 more today. How many trees
will be in the park altogether?

Sophie is on page 12 of her book. The book
has 15 pages, how many pages has she left to
read?

There were 38 plums and 48 bananas in the
bowl. Now there are only 17 left plums left.
How many have been eaten?

Dad made 65 cakes. Alfie, who is 16, came
down in the night and ate 19 of the cakes.
How many cakes are left?

Jack has 29 stickers, which cost 25p each.
Sam has 46 more than Jack. How many
stickers has Sam got?

There are 67 cars in the car park.
28 cars leave. How many cars are left?

There are 67 cars in the car park. 28
cars leave. How many cars are left?

John ate 23 grapes. His sister,
Stephanie,
ate 36 grapes. How many fewer grapes
did John eat than Stephanie?

T went bowling this weekend, which cost
£3.50. My first score was 49 and my
second was 38. What was my fotal score?

I bought a 250g Mars bar for 59p. I paid
with a £1 coin. How much change should I
get?

My grandma, who is 75, gave me 90p. I
spent 38p on some coloured pencils. How
much do I have left?



